10000 1
1.1 000000 __ 1
1-200000 1
1300 1
1-4 OO0 1
1-5 0000 2
1-6 000000 2
1.7 0000 3
1-8 0000 3
1-0 00000000 3
1410 OO0O0O0 3

20000000 4
2-1 0000000 4
2-2 0000000 __ 5

2-2-1 0000000100) 5
2-2-2 000000001000) 6
2-3 00000 __ 7
2-3-10000000100) 7
2-3-2 000000001000) 11
2-4 00000 23
2-4-1 0000000100) 23
2-4-2 00000000WO00) 23
2-5 000000 24
2-5-1 0000000100) 24
2-5-2 00000000W000) 24
2-6 000000 25
2-6-1 0000000100) 25
2-6-2 00000000WO00) 25

30000 26
3-10000000800) 26
3-2000000001000) 27
3-3000000000 28

4 0000 29
4-1 0000000800) 29

4-1-1 000 29
4-1-2 0000 32
4-1-3 0000 37
4-2 00000000KO00) 42
4-2-1 000 42
4-2-2 0000 45
4-2-3 0000 50
4-3 0000000000 55
4-3-1 0000000000000 55



100400
1-1 00000d

000000000000000
0(@O)Doooooo
0(@O)Doooooo

Y ¢ = 24.50 KN/
y s = 18.60 KN/
y « = 19.60 KN/

oooooooo yw= 9.80 kN/m*
1-2 00000
Oooooooooooog O« = 24.0 N/mm?
od od od od ood
ooooooooo O sa N/mm? 160.0 300.0
Oooooooooooooon O ca N/mm? 8.0 12.0
Oooooooooooood T ca N/mm? 0.39 0.58
1-3 00
ooo1
od od od 0o SIalE
oooo Hia 2.500 1.500
oooo Hiz 2.000 1.000
1-4 000
O oo
No ooooo oooo oooooo ood
kN/m? m m
1 (00Oo0oO 0.00 0.000 0.000
(@ ooo
No ooooo oooo oooooo ood 000
kN/m? m m
1 0.00 0.000 0.000




1-5 0000

3.600
1.000 2.200
O|. 400
o
o
o <
n '
o V]
(v}
o
n
n
©
|
:| D
[\j L 1.000
<

1.000

1-6 DO0O0O0OO




1-7 0000

oooooo Ko = 0.500
ooooo w = 45° (O 0O)
oooooooooo (0] = 30°
oo00oooooboooooaa Tange = 0.600
ooooooooooooo Cs = 0.00 kN/m?
1-8 0004
ooooooooo kn = 0.200
ooooooooo kn® = 0.200
19 0000000a
() Ooooogog
O00e0OOOBOOOO
i) oo
B
lel0 ¢
ii) ooo
B
lel0 5
(@ O0oooogog
ooOooooooo oo 1.20
ooOo  1.50
() 0oooooooood
gooboooooog 00 o = 300 kN/m?
ooD g” = 450 kN/m?
1-10 00000
O O O O O O O O O
O O O O O O O O O
O O O O O O O
Hoboo O O O 1 2 3
O
O
oo 1 X
0 o o o o o
O
O (0Ooo o o o 1 o o o
O
O




20000000
2-1 0000000

0oooo 0o 0o 0000 0oooo
0o v 0o W X Y m W,
) ey | ) ) @ | ooy | goom
1 | 3.600% 0.550 = 1.980 | 24.50 | 48.510| 1.800| 0.275| 87.318| 13.340
2 | 0.400% 3.400 = 1.360 | 24.50 | 33.320| 1.200| 2.250| 39.984| 74.970
0o 81.830 127.302 | 88.310
0000000000
S W 127.302
X='Sw = sLs - 156
S W . 88.310 _
Y=Sw = sis - 1079




2-2 0000000

2-2-1 0000000100)

000000  Ha = 2.500
000000  He = 2.000
0oooo 0o 0o 0000 0oooo
0o v 0o W X Y m W,
) ey | ) o) @ | ooy | goom
1 | 1.000x 1.950 = 1.950 | 18.60 | 36.270| 0.500| 2.975| 18.135| 107.903
2 | 1.000x 1450 = 1.450 | 19.60 | 28.420| 0500 1.27/5| 14.210| 36.236
3 | 2.200x 1450 = 3.190 | 18.60 | 59.334| 2.500| 3.225| 148.335| 191.352
4 | 2.200x 1.950 = 4.000 | 19.60 | 84.084| 2.500| 1.525| 210.210| 128.228
0o 208.108 390.890 | 463.719
0000000000
S M. 390.890 _
X='Sw = 208108 - 1-878 (M
S W . 463.719 _
Y= Sw = 208108 - 2-228.(M




2-2-2 00000000KO0OO0)

O000000 Ha"= 1.500
O000000 He"= 1.000

0oooo 0o 0o 0000 0oooo
0o v 0o W X Y m W,
) ey | ) o) @ | ooy | goom
1 | 1.000x 2.950 = 2.950 | 18.60 | 54.870| 0.500| 2.475| 27.435| 135.803
2 | 1.000% 0.450 = 0.450 | 19.60 8.820| 0.500| 0.7755| 4.410| 6.836
3 | 2.200x 2.450 = 5.390 | 18.60 | 100.254| 2.500| 2.725| 250.635| 2/3.192
4 | 2200 0.950 = 2.090 | 19.60 | 40.964| 2.500| 1.025| 102.410| 41.988
0o 204.908 384.890 | 457.819
0000000000
S M. 384.890 _
X='Sw = 204.908 - 1-878 (M
S W _ 457.819 _
Y= 5w = 204908 - 2-234(M




2-3 00000
2-3-1 0000000100)

boooboobooooboooobooooodn

(O 00ooObooooood

3.950

2.200 3.950
goao

oooooooooo@o) w = 45
goao

uboooooooood
O= 0.00 kN/m?




O
pl
P1
= p2
P2
p3
gooood Ko = 0.500
o@o)ooooopoo ys = 18.60 kN/m?
o@o)yooooooo yt =19.60 kN/m?
ogooooooo Y« = 9.80 kN/m?
ogoooooooooo au =1.450 m
ogoooooooooo & = 2.500 m
goog
ooood
oo
(kN/m?)
P 0.500x 0.00 0.00
P2 0.500x ( 0.00+1.450x 18.60) 13.49
Ps 0.500x { 0.00+1.450% 18.60+2.500x (19.60- 9.80)} 25.74
oo
ooood oo
oo
y(m) (kN/m)
P1 ( 0.00+ 13.49)x 1.450x 0.5 2.983 9.78
P, ( 13.49+ 25.74)x 2.500% 0.5 1.120 49.03




(2 00000000000

3.400

3.400

goao

0000000000(@O)

goao

uboooooooood

O=

0.00 kN/m?

w

45°




O
pl
P1
= p2
P2
p3
gooood Ko = 0.500
o@o)ooooopoo ys = 18.60 kN/m?
o@o)yooooooo yt =19.60 kN/m?
ogooooooo Y« = 9.80 kN/m?
ogoooooooooo au =1.450 m
ogoooooooooo & =1.950 m
goog
ooood
oo
(kN/m?)
P 0.500x 0.00 0.00
P2 0.500x ( 0.00+1.450x 18.60) 13.49
Ps 0.500x { 0.00+1.450% 18.60+1.950x (19.60- 9.80)} 23.04
oo
ooood oo
oo
y(m) (kN/m)
P1 ( 0.00+ 13.49)x 1.450x 0.5 2.983 9.78
P, ( 13.49+ 23.04)x 1.950x 0.5 1.440 35.61




2-3-2 000000001K000)

gboobodooobooooabaoo

() 000000000000
i 0ooooo

3.950

2.200

3.950

0000
0000000000(@O)
0ooo
00000000000
O=  0.00 kN/i?

w = 45°




O
pl
P1
= p2
P2
p3
gooood Ko = 0.500
o@o)ooooopoo ys = 18.60 kN/m?
o@o)yooooooo yt =19.60 kN/m?
ogooooooo Y« = 9.80 kN/m?
ogoooooooooo au =2.450 m
ogoooooooooo & = 1.500 m
goog
ooood
oo
(kN/m?)
P 0.500x 0.00 0.00
P2 0.500x ( 0.00+2.450x 18.60) 22.79
Ps 0.500x { 0.00+2.450% 18.60+1.500x (19.60- 9.80)} 30.14
oo
ooood oo
oo
y(m) (kN/m)
P1 ( 0.00+ 22.79)x 2.450x 0.5 2.317 27.91
P, ( 2279+ 30.14)x 1.500% 0.5 0.715 39.69




ii) 00000

gooo
2
O, = cos’(@ -a )
, sin(g +d )sin(e -B ) ,
cosa cos(a +& )[1+ cos(a +5 ycos(a —B ) ]
_ c0s*(30.0-0.0)
2 sin(30.0+30.0)sin30.0 .
€0s0.0c0s(0.0+30.0)[ 1+ _ | “¢550.0c0s(30.0+0.0) 1
= 0.297
gooo
gooooooooo ¢ =30.0°
goooooboobobbooo a = 0.0°
gooooooobobooo B = 0.0°0 00000
0o0o00dEe) 5 =30.0°
gooo
gooo
ad
(kN/m?)
pv | 0.297x 0.00 0.00
pw2 | 0.297x ( 0.00+2.450x 18.60) 13.54
pie | 0.297x { 0.00+2.450x 18.60+1.500x (19.60- 9.80)} 17.91
gd
gooo ad
ad
y(m) (kN/m)
Pae | ( 0.00+ 13.54)x 2.450x 0.5 2.317 16.59
Pve | (13.54+ 17.91)x 1.500% 0.5 0.715 23.59




i) 0000000

gooog
— . . cos(a 48 +0 ")sin(@ +d )
cot(w-B ) = -tan(p +0 "+a - )+sec(p +& "+a -B ) cos(a -B )sin(@ -B -6 )
= -tan(30.0+15.0+0.0)
c0s(0.0+11.3+15.0)sin(30.0+15.0)
+sec(30.0+15.0+0.0) c0s0.0sin(30.0-11.3)
= 0.98898
- tant| — L1 - gant L
o = tan* | cot(w -|3)J+'3 = tan” 5 98508
= 45.317
ggoo
gooood On =0.200
goobbooooo (0] = 30.0°
gobbooobboooob a = 0.0°
goobboooobbod B = 0.0c ODOOO
00000 e /2) 5" =15.0°
00000000 (=tan'ky) ] = 11.3°
o
n
o
®
w
2.200 3.906

goao
uboooooooood
O= 0.00 kN/m?




gboooooodn

6 " = tan? k™
= tan® 0.200 = 11.3°
gooo
goooooooo k=" = 0.200
gooo
gooo
2
O = cos’(@ -8 -a )
. sin(e +5 ")sin(e -B -6 )
cosB cos’a cos(a +0 +0 ")[ 1+ cos(a +8 +8 ")cos(a -B ) 1°
- €0s?(30.0-11.3-0.0)
sin(30.0+15.0)sin(30.0-11.3)
c0s11.3c0s%0.0cos(0.0+11.3+15.0)[ 1+ c0s(0.0+11.3+15.0)c0s0.0 1°
= 0.452
gooo
2 -
O = cos’(@ -6 "-a)
. . sin(@ +5 ")sin(e - -6 )
cos® "cosa cos(a +0 "+3 ")[ 1+ cos(a +8 "+ ")cos(a B ) 1°
- €0s?(30.0-11.3-0.0)
sin(30.0+15.0)sin(30.0-11.3)
c0s11.3c0s%0.0cos(0.0+11.3+15.0)[ 1+ c0s(0.0+11.3+15.0)c00.0 1°
= 0.452
gooo
gooo
ad
(KN/m?)
Pe1 0.452x% 0.00 0.00
Pe2 0.452x (. 0.00+2.450% 18.60) 20.60
pe2" | 0.452x ( 0.00+2.450x 18.60) 20.60
pes | 0.452x { 0.00+2.450x 18.60+1.500x (19.60- 9.80)} 27.24
gd
gooo ad
ad
y(m) (kN/m)
Pez | ( 0.00+ 20.60)x 2.450x 0.5 2.317 25.23
Pez | ( 20.60+ 27.24)x 1.500x 0.5 0.715 35.88




iv) 0000000

Poe1

Po2

P#Pucos(a +0 ")-Pucos(a +d )

27.91+25.23% c0s(0.0+15.0)-16.59x% cos(0.0+30.0)
37.92 kN/m

Po+Pecos(a +0 ")-Precos(a +d )

39.69+35.88x cos(0.0+15.0)-23.59% cos(0.0+30.0)
53.92 kN/m



(2 00000000000

i 0OOoooo

3.400

3.400

goao

0000000000(@O)

goao

uboooooooood

O=

0.00 kN/m?

w

45°




O
pl
P1
= p2
P2
p3
gooood Ko = 0.500
o@o)ooooopoo ys = 18.60 kN/m?
o@o)yooooooo yt =19.60 kN/m?
ogooooooo Y« = 9.80 kN/m?
ogoooooooooo au =2.450 m
ogoooooooooo & = 0.950 m
goog
ooood
oo
(kN/m?)
P 0.500x 0.00 0.00
P2 0.500x ( 0.00+2.450x 18.60) 22.79
Ps 0.500x { 0.00+2.450% 18.60+0.950x (19.60- 9.80)} 27.44
oo
ooood oo
oo
y(m) (kN/m)
P1 ( 0.00+ 22.79)x 2.450x 0.5 2.317 27.91
P, ( 2279+ 27.44)x 0.950x 0.5 1.010 23.86




ii) 00000

oood
2
O, = cos’(@ -a )
, sin(g +d )sin(e -B ) ,
cosa cos(a +& )[1+ cos(a +5 ycos(a —B ) ]
_ c0s%(30.0-0.0)
2 sin(30.0+10.0)sin30.0 .
€0s0.0c0s(0.0+10.0)[ 1+ /' “¢550.0c0s(10.0+0.0) 1
= 0.308
oood
oooooooooo ¢ =30.0°
gooooooooooood a = 0.0°
ogooooooooooo B = 0.0°0 00000
0oood e /3) 5 =10.0°
oood
oooad
oo
(kN/m?)
pvt | 0.308x 0.00 0.00
pv2 | 0.308x ( 0.00+2.450x 18.60) 14.06
pie | 0.308x { 0.00+2.450x 18.60+0.950x (19.60- 9.80)} 16.93
oo
oood oo
oo
y(m) (kN/m)
Pae | ( 0.00+ 14.06)x 2.450x 0.5 2.317 17.22
Pve | (14.06+ 16.93)x 0.950x 0.5 1.010 14.72




i) 0000000
goood

“tan(p +5 "o -B Yrsec(p +5 +a -p) [ S0 €D DoIn(0 B

cot(w-B)

~tan(30.0+0.0+0.0)

c0s(0.0+11.3+0.0)sin(30.0+0.0)
€0s0.0sin(30.0-11.3)

+sec(30.0+0.0+0.0)

= 0.85004
- Al 1 I S
o = tan* | cot(w -p )J *B = tan” 55004
= 49.604
0ooo
000Doo On = 0.200
0000000000 ¢ =30.0°
000000D00000000 a = 0.0°
000000000000 B = 0.0°000000
0oooo 5* = 0.0°
00000000 (tan'ks) 8 =113
(o]
o
<
V]
2.893
0000

uboooooooood
O= 0.00 kN/m?




gboooooodn

0 " = tan® k™
= tan® 0.200 = 11.3°
gooo
goooooooo k=" = 0.200
gooo
gooo
2
O = cos’(@ -8 -a )
. sin(@ +3 ")sin(e -B -6 )
cosB cos’a cos(a +0 +0 ")[ 1+ cos(a +8 +8 ")cos(a -B ) 1°
- c0s*(30.0-11.3-0.0)
sin(30.0+0.0)sin(30.0-11.3)
c0s11.3c0s%0.0cos(0.0+11.3+0.0)[ 1+ c0s(0.0+11.3+0.0)c0s0.0 1°
= 0.473
gooo
2 -
O = cos’(@ -6 "-a)
. . sin(@ +3 ")sin(e -p -6 °)
cos® "cosa cos(a +0 "+3 ")[ 1+ cos(a +8 "+ ")cos(a B ) 1°
- c0s*(30.0-11.3-0.0)
sin(30.0+0.0)sin(30.0-11.3)
c0s11.3c0s%0.0cos(0.0+11.3+0.0)[ 1+ c0s(0.0+11.3+0.0)c0s0.0 1°
= 0.473
gooo
gooo
ad
(KN/m?)
Pe1 0.473% 0.00 0.00
Pe2 0.473x (. 0.00+2.450% 18.60) 21.57
pe2" | 0.473x ( 0.00+2.450x 18.60) 21.57
pes | 0.473x { 0.00+2.450x 18.60+0.950x (19.60- 9.80)} 25.97
gd
gooo ad
ad
y(m) (kN/m)
Per | ( 0.00+ 21.57)x 2.450x 0.5 2.317 26.42
Peo | (21.57+ 25.97)x 0.950x 0.5 1.010 22.58




iv) 0000000

Poe1

Po2

P#Pucos(a +0 ")-Pucos(a +d )

27.91+26.42% c0s(0.0+0.0)-17.22% cos(0.0+10.0)
37.37 kN/m

Po+Pecos(a +0 ")-Precos(a +d )

23.86+22.58x c0s(0.0+0.0)-14.72x cos(0.0+10.0)
31.94 kN/m



2-4 00000

2-4-1 0000000100)
0o gooo ggd
y(m) Pu(kN/m)
ad 9.80x 2.000°x 0.5 0.667 19.60
ad 9.80x 2.500°x 0.5 0.833 30.63
2-4-2 000000 DOwOCOO)
0o gooo ggd
y(m) Pu(kN/m)
ad 9.80x 1.000°x 0.5 0.333 4.90
ad 9.80x 1.500°x 0.5 0.500 11.03




2-5 000000

hw2

hwl

ooo B =3.600 m
2-5-1 00000001 0O)
oo oood ooo

x(m) U(kN/m)

(2.500+2.000)% 3.600x 9.80x 0.5 1.867 79.38

2-5-2 000000001 OO)

oo oood ooo

x(m) U(kN/m)

(1.500+1.000)x 3.600x 9.80x 0.5 1.920 44.10




2-6 000000
2-6-1 0000000100)

oooo ood ood
oooo
q(kN/m?) W(m) Q(kN/m)
000l |ooooo 0.00 0.000 0.00
od 0.00
2-6-2 DO0O0ODO0OOONOOO)
oooo ood ood
oooo
q(kN/m?) W(m) Q(kN/m)
ooo1 0.00 0.000 0.00
od 0.00




30000
3-100000001KO0)
() 0000000

o 000 | 000 0000 0000000
Vi(kN) Hi (kN) xi(m) yi(m) Myei (KNOm) [ Myi (KNCm)
0000 81.83] - 1.556] - 127.30] -
0000 20811 1878 300.89] -
00Q@ - 9o.78] - 2.983] - 29.17
00Q — 29.03] 1120 54.90
0000 - 30.63] - 0.833] - 2552
0000 - C19.60] 0.667] - [13.07
000 79.38] 1.867] - “143.18]
000 0.00] —— 0.000] 0.00] ——
ili 210.56 69.83 1.757 1.382]  370.02 96.52
(@ 00000000

noooooo
g = 2ozt 2y 909

nooooo
=g = 320 = 0600 m

nooo
e = 5-d= 25001 299 = 0.501 m

le] =0.501 m< e =0.600m ( OK)

() 0ooooooa
F = CeOB+Z Vitano s

2 Hi
_ 0.00x 3.600+210.56x 0.60
69.83
=1.81>1.20 ( 0K )
0ooo
slufuis]s]slslslsis]s]s Cs = 0.00 KN/
ooo B = 3.600 m
000D00000000000 tangs = 0.60
(4 00000000000
ooooo
mk%DDDDDDDDDDDD
G = ZVo, 18] _ 21056 , 6x 105.51
= gt 3.600 T 3.600°
= 107.34 KN/I? < ge = 300.00 KN/m?
C_ Vi [6M| _ 210.56 6x 105.51
O = "B "B T 3.600 ~ 3.600°
= 9.64 KN/ < gs = 300.00 KN/m?
0ooo
000D000000000000 (=X Vile) M = 105.51 KNOm
oooooo G = 300.00 KN/

(G) 00Dooooooooo
V = X Vix Ix 2 = 210.56% 1.000x 2 = 421.12 kN
H =X Hix Ix 2 =69.83x 1.000x 2 = 139.65 kN
M= 2 Vix ex Ix 2 = 210.56x 0.501x 1.000x 2 = 211.02 kNOm
oogoo
ooooooog I. =1.000m



3-2 0000000010 00)
() 0000000

a0 ooo ooo gooo goooooo
Vi(kN) Hi (kN) xi(m) yi(m) Myei (KNOm) [ Myi (KNCm)
gooo 81.83 16.37 1.556 1.079 127.30 17.66
gooo 204.91 40.98 1.878 2.234 384.89 91.56
ooQ@ -—— 37.92 -—— 2.317 -—— 87.85
oo -—— 53.92 -—— 0.715 -—— 38.57
goooo -—— 11.03 -—— 0.500 -—— 5.51
goooo -—— -4.90 -—— 0.333 -—— -1.63
ooo -44.10 -—— 1.920 -—— -84.67 -—
ooo 0.00 -—— 0.000 -—— 0.00 -—
oo 242 .64 155.31 1.762 1.542 427.52 239.52
(0 00000000
goooooo
2 M= Myi _
d = “sv - 0.775 m
gooodono
_ B _ 3.600 _
€ = 3° 3 =1.200 m
gooo
e=5-d= 350 0775=1.05n
le] =1.025m < e =1.200m ( OK )
(3) 00000000
F = CeOB+Z Viltan s
s > Hi
_ 0.00x 3.600+242.64x 0.60
- 155.31
=0.94 < 1.50 ( OUT )
gooo
goooooooogoo Cs = 0.00 kN/m?
ooo B = 3.600 m
gooooooooooooon tanpe = 0.60
(4 00000000000
|qD%DDDDDDDDDDDDD
ooo
x=3 Bojer] = x| 3801 055
=2.324 m
goooo
_2X Vi _ 2x 242.64
G = "% T 2.324
= 208.77 kN/m? < ga = 300.00 kN/m?
gooo
gooodono Oa = 300.00 kN/m?
() 00000000000
V = X Vix Ix 2 = 242.64x 1.000x 2 = 485.28 kN
H = X Hix l.x 2 = 155.31x 1.000x 2 = 310.62 kN
M= X Vix ex Ix 2 = 242.64x 1.025x 1.000x 2 = 497.49 kNOm
gooo

gooobodaod I

=1.000 m




3-30000o00ooao

vA
R 000 00000 00000 QM [
Iel €a Fs Fsa q Ca
ooo |od 0.501 < 0.600 1.809 > 1.2 107.34 < 300.00 OK
ooo |jooo 1.025 < 1.200 0.937 < 1.5 208.77 < 300.00 ouT




4 0000

4-1 00D00000LKO0)

4-1-1 00

O

() 0000000
00000000DI6 cte250 0000000

uboooboobobooobgooobuooooboooobdaooooan

ao

P = pdl: = 23.04x 1.000 = 23.04 kN/m

gooo
goooooboobooboboooo ps = 23.04 kN/m?
goooooooo I = 1.000 m
gd
Pv = y w(a"-HetC)l. = 9.80x (1.950-2.000+0.550)x 1.000
= 4.90 kN/m
gooo
gooooooo You = 9.80 kN/m®
gooooooobbobobobbooo a" = 1.950 m
gooo Hie = 2.000 m
goooo C = 0.550 m
0o ggd god gooo goooooo
Vi(kN) Hi (kN) xi(m) yi(m) Myei (KNOm) [ Myi (KNCm)
ad -— 23.04 -— 0.500 -— 11.52
ad -— 4.90 -— 0.500 -— 2.45
ad -— 27.94 -— -— -— 13.97




ogoooooo M 13970000 NOmm
gooo S 27940 N
ooad b 1000 mm
oood D 400 mm
ooad d" 106 mm
ooad d 294 mm
goood As 794.4 mm?

_ M 13970000 _ 2
C= bo¢ = 1000x 294 = 0-162 N/mm

_ As _ 794.4 _
P= bid = 1000x 204 - 0-0027
k = /(nOP)>2n0P -nOP
j-= 1-% , n=15
1 _ 2 1 _ 1
L~ kOj ’ L ~ POj
k = 0.247 1/Ls = 403.3
j =0.918 1/Lc = 8.8
0s = C/Ls = 0.162x 403.3 = 65.2 N/mn?
O0c=C/lLc =0.162x 8.8 = 1.4 N/mm
T = S/(bdd) = 27940/(1000x 294) = 0.10 N/mn?

oo oo goooo goooo oo
goOooooo N/mm? 65.2 160.0 oK
goooooooooooo N/mm? 1.4 8.0 oK
goo0ooooooooo N/mm? 0.10 0.39 0K




(@ 00000

00000000D16 ctel2s OOOOOOO

0o ooo ooo goooo goooooo
Vi(kN) Hi (kN) xi(m) yi(m) Myei (KNOm) [ Myi (KNCm)
0o —— 45.39] - 1.222] - 55.48
0o0oo — 18.63] - 0.650| - 12.11
0ooo —— -10.30] - 0.483] - ~4.98
0o —— 53.72| - —— —— 62.62
ogoooooo M = 62615167 NOmm
gooo S = 53719 N
ooad b = 1000 mm
oood D = 400 mm
ooad d" = 90 mm
ooad d = 310 mm
goood As = 1588.8 mm?
_ M 62615167 _ 2
C= bi¢ = 1000 a1 - 0-652 N/mm
_ As _ 1588.8 _
P= bid = 1o00x 310 - 0-0051
k = /(nOP)>2n0P -nOP
j=1- g ,n=15
1 _ 2 1 _ 1
L~ kij * L _ POj
k = 0.323 1/Ls = 218.6
j=0.892 1YL = 6.9
Os = C/Ls = 0.652x 218.6 = 142.5 N/mn?
O0c=C/lc =0.652x 6.9 = 4.5 N/mm
T = S/(b0d) = 53719/(1000% 310) = 0.17 N/mr?

oo oo goooo goooo oo
goOooooo N/mm? 142.5 160.0 oK
goooooooooooo N/mm? 4.5 8.0 0K
goo0ooooooooo N/mm? 0.17 0.39 oK




4-1-2 0000
() 0000000
D0OODI6 ctc250 0000000
0000000000C/2(C000000)0000000000

boooboobooooboooobooooodan

W= CONDy 0% = 0.550x 1.000x 24.50x 2990 = 6.74 ki

S« = COL"0y ¢ = 0.550% 0.725x 24.50 = 9.77 kN

0ooo
0Doooo c = 0.550 m
0000000000 I. = 1.000 m
000000000 ER-C/2) L =0.725 m
0000000000000 ye = 24.50 KN/n

uboooboobooooboooobooooodn

_ qu(B-b)+qlb: _ 107.34x (3.600-1.000)+ 9.64x 1.000
G = B = 3.600
= 80.20 kN/i?
Q = (b | (07360 80200 1000 _ g5 77 gy
=0 = DI = 93.77 s
ulalals
000 B = 3.600
0000000000000000000 b = 1.00 m
0000000000000 g =107.34 KV
0000000000000 @ = 9.64 KW
00000000000000000 "
000000000000 "
000000000000 0
000000000000000000000
W= gk Y = 03.77x 1.000x 1:0% = 46.88 knam

Sq = qal2" = 93.77x 0.725 = 67.98 kN



gbooobodooobodoboooboooobaod

4 = He(B-DtHalb  _ 2.000x (3.600-1.000)+2.500x 1.000, ¢ oo
B 3.600
= 20.96 KN/
y - (kuvzmwm)bl _ (2.000x 9.802220.96)x 1.000 _ 50 58 ks
U . 2028 _ ,
w= o = 2038 = 50 28 K/
0ooo
0oo B = 3.600 m
000000000000000000 b = 1.000 m
0ooo He = 2.000 m
0ooo He = 2.500 m
0ooooooo Ve = 9.80 KW
0000000000000000 U
jufals]s]ufalsls]ufals s
0oooooooooo U
0000000000000000000
Mo = umlzu% = 20.28x 1.000x 1'300 = 10.14 KNOm
S = Wi 20.28 = I*x 0.725 = 14.70 kN
- 0oo 0oo 0000 0oooooo
Vi(kN) Hi (kN) xi(m) yi(m) Myei (KNOm) [ Myi (KNCm)
0000 N — — .74 ———
0000 67.98] - — — 26.88] -
0oo 1470 —— — — 0.14] —
0o 2.02]  —— — — 50.29] -




ogoooooo M 50286309 NOmm
gooo S 72915 N
ooad b 1000 mm
ooo D 550 mm
ooad d" 106 mm
ooad d 444 mm
goood As 794.4 mm?

_ M 50286309 _ 2
C= bo¢ = 1000x 444 = 0-255 N/mm

_ As _ 794.4 _
P= bd = 1ooox 444 - 0-0018
k = /(nOP)>2n0P -nOP
j-= 1-% , n=15
1 _ 2 1 _ 1
L~ kOj ’ L ~ POj
k = 0.206 1/Ls = 600.2
j =0.931 /L = 10.4
0s = C/Ls = 0.255x 600.2 = 153.1 N/mm?
O0c=C/Lc =0.255x 10.4 = 2.7 N/mm?
T = S/(b0d) = 72915/(1000x 444) = 0.16 N/m?

oo oo goooo goooo oo
goOooooo N/mm? 153.1 160.0 oK
goooooooooooo N/mm? 2.7 8.0 oK
goo0ooooooooo N/mm? 0.16 0.39 0K




(@ 000000
00000000DI6 cte250 0000000

boooboobooooboooobooooodn
b 1.000

Mo = Clbdy CDE = 0.550x 1.000x 24.50x o = 6.74 kNOm
Sv = CObdy ¢ = 0.550x 1.000x 24.50 = 13.48 kN

goao
goood C = 0.550 m
gboooooogoo b =1.000 m
uboobodoooobaod Ye = 24.50 kN/m?

ubooobooboooooboooooboood

_ G20, _  80.20+2x 107.34 _
k= 3(qua ™ = 3x (107.34+ 80.20) * 1-000 = 0.524 m
W = QUIs = 93.77x 0.524 = 49.14 kNOn

Se=Q =093.77 kN

gooo
gooooooboboboobooo o]} = 107.34  kN/m?
gooooooobbobobobbooo 0] = 80.20 KkN/m?
goooooboobobobooo Q = 93.77 kN/m
gooooobbbbboooooooa
. X 2. X .80+ -
- B P LB o
=0.494 m
Mo = UOls = 20.28x 0.494 = 10.03 kNOm
Se = U =20.28 kN
gooo
gooo Hie = 2.000 m
gooooooobbobobobbooo Us = 20.96 kN/m?
gooooooon You = 9.80 kN/m?
gooooooobobooo U = 20.28 kN/m
gooooooo I
0o god god gooo goooooo
Vi(kN) Hi (kN) xi(m) yi(m) Myei (KNOm) [ Myi (KNCm)
gooo -13.48 -— 0.500 -— -6.74 -—
gooo 93.77 -— 0.524 -— 49.14 -—
god 20.28 -— 0.494 -— 10.03 -—
ad 100.57 -— -— -— 52.43 -—




ogoooooo M = 52434340 NOmm
gooo S = 100573 N
ooad b = 1000 mm
ooo D = 550 mm
ooad d" = 90 mm
ooad d = 460 mm
goood As = 794.4 mm?

_ M 52434340 _ 5
C bIF = 1000x 4607 - 0.248 N/mm

_ As _ 794.4 _
P= bid = 1o00x 460 - 0-0017
k = /(nOP)>2n0P -nOP
j- 1-% , n=15
1 _ 2 1 _ 1
L ~ kIj > L ~ POj
k = 0.203 1/Ls = 621.1
jJ =0.932 1/Lc = 10.6
0s=C/Ls = 0.248x 621.1 = 153.9 N/mm?
O0c=C/Lc =0.248x 10.6 = 2.6 N/mm’
T = S/(b0d) = 100573/(1000x 460) = 0.22 N/mm?

oo oo goooo goooo oo
goOooooo N/mm? 153.9 160.0 oK
goooooooooooo N/mm? 2.6 8.0 oK
goo0ooooooooo N/mm? 0.22 0.39 0K




4-1-3 0000
() 0000000
D0OODI6 ctc250 0000000
0000000000C/2(C000000)0000000000

boooboobooooboooobooooodan

W= CONDy 0% = 0.550x 1.000x 24.50x 2990 = 6.74 ki

S« = COL"0y ¢ = 0.550% 0.725x 24.50 = 9.77 kN

0ooo
0Doooo c = 0.550 m
0000000000 I. = 1.000 m
000000000 ER-C/2) L =0.725 m
0000000000000 ye = 24.50 KN/n

uboooboobooooboooobooooodn

_ albrqu(B-b) _ 107.34x 2.200+ 9.64x (3.600-2.200)
G = B = 3.600
= 69.34 kN/i?
Q = (b | (0.6 69.39x 2.200 _ gg gg oy
=0 = 3058 = 30.49 ks
ulalals
000 B = 3.600
0000000000000000000 be = 2.200 m
0000000000000 g =107.34 KV
0000000000000 @ = 9.64 KW
00000000000000000 "
000000000000 "
000000000000 0
000000000000000000000
W= gk Y = 39.49x 1.000x 1:0% = 19.75 knm

Sq = qal2" = 39.49x 0.725 = 28.63 kN



gbooobodooobodoboooboooobaod

2.000x 2.200+2.500x (3.600-2.200)

_  HeObo+Hu(B-b2 _
W = ———Ei—lyw_ ;20 x 9.80
= 21.51 kN/m?
y - (HmDv2m1n)bz _ (2.500x 9.802221.51)x 2.200 _ o0 61 /i
U _ 50.61 _ ,
w= o = 308 = 23,00 k/m
0ooo
0oo B - 3.600 m
0O000000000000000000 be = 2.0
0ooo He = 2.000 m
0ooo He = 2.500 m
0ooooooo ye = 9.80 KV
0000000000000000 U
jufals]s]ufalsls]ufals s
0oooooooooo U
0000000000000000000
Mo = umlzu% = 23.00x 1.000x 1'300 = 11.50 KNOm
S = wil” = 23.00x 0.725 = 16.68 kN
- 0oo 0oo 0ooo 0oooooo
Vi(kN) Hi (kN) xi(m) yi(m) Myei (KNOm) [ Myi (KNCm)
0000 9.77]  —— — — 6.74]  -———
0000 47.26] — — 32.60]
0000 28.63| — — 19.75]
0oo 16.68] - — — T
0o 11.72]  — — — 8.00] -———




ogoooooo M = 8085064 NOmm
gooo S = 11723 N
ooad b = 1000 mm
ooo D = 550 mm
ooad d" = 106 mm
ooad d = 444 mm
goood As = 794.4 mm?

_ M 8085064 _ 2
C= dez - 1000x 4442 = 0.041 N/mm

_ As _ 794.4 _
P= bd = 1ooox 444 - 0-0018
k = /(nOP)*2nIP -n0OP
j-= 1-% , n=15
1 _ 2 1 _ 1
L~ kOj ’ L ~ POj
k = 0.206 1/Ls = 600.2
j =0.931 1/Lc = 10.4
Os = C/Ls = 0.041x 600.2 = 24.6 N/mn?
O0c=C/L =0.041x 10.4 = 0.4 N/mm?
T = S/(b0d) = 11723/(1000x 444) = 0.03 N/mn?

oo oo goooo goooo oo
goOooooo N/mm? 24.6 160.0 oK
goooooooooooo N/mm? 0.4 8.0 oK
goo0ooooooooo N/mm? 0.03 0.39 0K




(@ 000000
00000000DI6 ctel2s 0000000

boooboobooooboooobooooodn
b2 2.200

Mo = COb2y CDE = 0.550x 2.200x 24.50x 5 = 32.61 kNOm
Sv = CObAly ¢ = 0.550x 2.200% 24.50 = 29.65 kN

goao
goood C = 0.550 m
gboooooogoo b2 =2.200 m
uboobodoooobaod Ye = 24.50 kN/m?

ubooobooboooooboooooboood

_ 2qetgs . _ 2% 9.64+ 69.34 )
b= 3(qrg) 2 T 3x ( 9.64+ 69.34) X 2-200 = 0.823 m
My = Qs = 86.88x 0.823 = 71.49 KN

S =Q = 86.88 kN

gooo
gooooooboboboobooo 0z = 9.64 KkN/m
gooooooobbobobobbooo 0] = 69.34 kN/m?
goooooboobobobooo Q = 86.88 kN/m
goooooooo Is = 0.823 m
gooooobbbbboooooooa
. X 2. X .00+ -
L R
=1.124m
Mo = UOle = 50.61x 1.124 = 56.87 KkNOm
Su = U =50.61 kN
gooo
gooo Hu = 2.500 m
gooooooobbobobobbooo Us = 21.51 KkN/m?
gooooooon You = 9.80 kN/m?
gooooooobobooo U = 50.61 kN/m
gooooooo I
0o god god gooo goooooo
Vi(kN) Hi (kN) xi(m) yi(m) Myei (KNOm) [ Myi (KNCm)
gooo 29.65 -— 1.100 -— 32.61 -—
gooo 143.42 -— 1.100 -— 157.76 -—
gooo -86.88 -— 0.823 -— -71.49 -—
god -50.61 -— 1.124 -— -56.87 -—
gad 35.57 -— -— -— 62.00 -—




ogoooooo M = 62003945 NOmm
gooo S = 35574 N
ooad b = 1000 mm
ooo D = 550 mm
ooad d" = 90 mm
ooad d = 460 mm
goood As = 1588.8 mm?
_ M 62003945 _ 2
C= dez - 1000x 4602 = 0.293 N/mm
_ As _ 1588.8 _
P= bid = 1o00x 460 - 0-0035
k = /(nOP)>2n0P -nOP
j-= 1-% , n=15
1 _ 2 1 _ 1
L~ kOj ’ L ~ POj
k =0.274 1/Ls = 318.7
j = 0.909 1/Lc = 8.0
O0s = C/Ls = 0.293x 318.7 = 93.4 N/mn?
Oc=0C/le =0.293x 8.0 = 2.4 N/mn
T = S/(bdd) = 35574/(1000x 460) = 0.08 N/mit
oo oo goooo goooo oo
goOooooo N/mm? 93.4 160.0 oK
goooooooooooo N/mm? 2.4 8.0 oK
goo0ooooooooo N/mm? 0.08 0.39 0K




4-2 0000000010 O0)
4-2-1 000
() 0000000
00000000DI6 cte250 0000000

gbooobooboboooboooobooooboooobdaooooan

ao
P = pdl: = 36.74x 1.000 = 36.74 kN/m

gooo
goooooboobooboboooo ps = 36.74 kN/m?
goooooooo I = 1.000 m
gd
Pv = y w(a"-HetC)l. = 9.80x (0.950-1.000+0.550)x 1.000
= 2.45 kN/m
gooo
gooooooo You = 9.80 kN/m®
gooooooobbobobobbooo a" = 0.950 m
gooo Hie = 1.000 m
goooo C = 0.550 m
0o ggd god gooo goooooo
Vi(kN) Hi (kN) xi(m) yi(m) Myei (KNOm) [ Myi (KNCm)
gooo -— 1.96 -— 0.500 -— 0.98
ad -— 36.74 -— 0.500 -— 18.37
ad -— 2.45 -— 0.500 -— 1.23
ad -— 41.15 -— -— -— 20.58




ogoooooo M 20575670 NOmm
gooo S 41151 N
ooad b 1000 mm
oood D 400 mm
ooad d" 106 mm
ooad d 294 mm
goood As 794.4 mm?

_ M 20575670 _ 2
C= bo¢ = 1000x 294 = 0-238 N/mm

_ As _ 794.4 _
P= bid = 1000x 204 - 0-0027
k = /(nOP)>2n0P -nOP
j-= 1-% , n=15
1 _ 2 1 _ 1
L~ kOj ’ L ~ POj
k = 0.247 1/Ls = 403.3
j =0.918 1/Lc = 8.8
Os = C/Ls = 0.238x 403.3 = 96.0 N/mm?
Oc=0C/le =0.238x 8.8= 2.1 N/mn
T = S/(bld) = 41151/(1000x 294) = 0.14 N/mn?

oo oo goooo goooo oo
goOooooo N/mm? 96.0 300.0 oK
goooooooooooo N/mm? 2.1 12.0 oK
goo0ooooooooo N/mm? 0.14 0.58 0K




(@ 00000

00000000D16 ctel2s OOOOOOO

0o ooo ooo goooo goooooo
Vi(kN) Hi (kN) xi(m) yi(m) Myei (KNOm) [ Myi (KNCm)
oooo —— 6.66] -——- 1.700]  -—- 11.33
oo - 69.32] -—- 1.165] -——- 80.73
oooo —— 4.42] - 0.317| -—-- 1.40
oooo —— 0.99] -—-- 0.150| --—-- 0.15
oo - 81.39] -——- - - 93.61
ogoooooo M = 93607818 NOmm
gooo S = 81395 N
ooad b = 1000 mm
oood D = 400 mm
ooad d" = 90 mm
ooad d = 310 mm
goood As = 1588.8 mm?
_ M 93607818 _ 2
C bOd = 1000x 3107 - 0.974 N/mm
_ As _ 1588.8 _
P= bid = 1o00x 310 - 0-0051
k = /(nOP)>2n0P -nOP
j=1- g , n=15
1 _ 2 1 _ 1
L ~ kOj * Ls ~ POj
k = 0.323 1/Ls = 218.6
j =0.892 1/Lc = 6.9
Os = C/Ls = 0.974x 218.6 = 213.0 N/mn?
O0c=C/Lc =0.974x 6.9 = 6.8 N/mm
T = S/(bdd) = 81395/(1000x 310) = 0.26 N/mm’

oo oo goooo goooo oo
goOooooo N/mm? 213.0 300.0 0K
goooooooooooo N/mm? 6.8 12.0 0K
goo0ooooooooo N/mm? 0.26 0.58 oK




4-2-2 0000
() 0000000
D0OODI6 ctc250 0000000
0000000000C/2(C000000)0000000000

boooboobooooboooobooooodan

W= CONDy 0% = 0.550x 1.000x 24.50x 2990 = 6.74 ki

S« = COL"0y ¢ = 0.550% 0.725x 24.50 = 9.77 kN

ulalals
0oooo c = 0.550
0000000000 I = 1.000 m
000000000 Ek-C/2) L*  =0.75n
0000000000000 Ve o =24.50 kP
000000000000000000000000
qo O 208TIX1000 g gy
Q = (@b | (0877 88X L0 _ 149 59 1y
=0 = M98 = 149.20 ki
ulalals
0000000000000000000 b = 1.00 m
0000000000000 g = 208.77 KV
00000000 X = 2.3%4
00000000000000000 &
000000000000 o
000000000000 Q

uboooboobooooaboooooboood

W= gk Y = 149.20x 1.000x 1:0% = 74.65 ki

Sq = qal2" = 149.29x 0.725 = 108.24 kN



gbooobodooobodoboooboooobaod

1.000x (3.600-1.000)+1.500x 1.000

_ He(B-b)+Hu0b: _
W = —L—g———yw_ 1000 x 9.80
= 11.16 KN/
y - (kuvzmmm)bl _ (1.000x 9.802211.16)x 1.000 _ 10 45 v/
U _ 10.48 _ ,
w= g = 108 = 10,48 W/
0ooo
0oo B = 3.600 m
000000000000000000 b = 1.000 m
0ooo He = 1.000 m
0ooo He = 1.500 m
0ooooooo Ve = 9.80 KW
0000000000000000 U
jufals]s]ufalsls]ufals s
0oooooooooo U
0000000000000000000
Mo = umlzu% = 10.48x 1.000x 1'300 = 5.24 KNOm
S = Wil 10.48 = I*x 0.725 = 7.60 kN
- 0oo 0oo 0000 0oooooo
Vi(kN) Hi (kN) xi(m) yi(m) Myei (KNOm) [ Myi (KNCm)
0000 N — — .74 ———
0000 108.24] - — — ] —
0oo 760 ——— — — 5.24]  ———
0o 106.07| —-— — — 73.15|




ooooooo M = 73148520  NOmm
0ooo s = 106065 N
ooo b = 1000 mm
0oo D = 550 mm
ooo d* = 106 mm
ooo d = 444 mm
ooooo J 794.4  mp
M 73148529 ,
C= bo¢ = 1000x 444 = 0-371N/mm
As 7944
P= bod = 1000x 444 = 0-0018
k = /(nOP)>2n0P -nOP
L _ .k _
i=1-5 Ln=1s
1 _ 2 1 _ 1
L~ klj * L - Pjj
K = 0.206 1/Ls = 600.2
j = 0.931 Yl = 10.4

05 = C/Ls = 0.371x 600.2 = 222.7 N/mw?
0c=C/lc = 0.371x 10.4 =
T = S/(bld) = 106065/(1000x 444) = 0.24 N/m?

3.9 N/mm?

oo oo goan goooo oo
gooooan N/mm? 222.7| < 300.0] OK
gbooooooooboog N/mm? 3.9 < 12.0] OK
goooooooooan N/mm? 0.24| < 0.58] OK




(@ 000000
00000000DI6 cte250 0000000

boooboobooooboooobooooodn
b 1.000

Mo = Clbdy CDE = 0.550x 1.000x 24.50x o = 6.74 kNOm
Sv = CObdy ¢ = 0.550x 1.000x 24.50 = 13.48 kN

goao
goood C = 0.550 m
gboooooogoo b =1.000 m
uboobodoooobaod Ye = 24.50 kN/m?

ubooobooboooooboooooboood

_ G20 _  89.81+2x 208.77 _
k= 3(qua ™ = 3x (208.77+ 89.81) * 1-000 = 0.566 m
W = QUIs = 149.29% 0.566 = 84.56 kNm

Se = Q = 149.29 kN

gooo
gooooooboboboobooo o]} = 208.77  kN/m?
gooooooobbobobobbooo 0] = 89.81 KkN/m?
goooooboobobobooo Q = 149.29 KkN/m
gooooobbbbboooooooa
. x 1. X .00+ -
oo AL A s
=0.489 m
Mo = UOle = 10.48% 0.489 = 5.13 kNOm
S = U =10.48 kN
gooo
gooo Hie = 1.000 m
gooooooobbobobobbooo Us = 11.16  kN/m?
gooooooon You = 9.80 kN/m?
gooooooobobooo U = 10.48 kN/m
gooooooo I
0o god god gooo goooooo
Vi(kN) Hi (kN) xi(m) yi(m) Myei (KNOm) [ Myi (KNCm)
gooo -13.48 -— 0.500 -— -6.74 -—
gooo 149.29 -— 0.566 -— 84.56 -—
ggd 10.48 -— 0.489 -— 5.13 -—
ad 146.30 -— -— -— 82.95 -—




ogoooooo M = 82948035 NOmm
gooo S = 146297 N
ooad b = 1000 mm
ooo D = 550 mm
ooad d" = 90 mm
ooad d = 460 mm
goood As = 794.4 mm?

_ M 82948035 _ 2
C bIF - 1000x 4607 - 0.392 N/mm

_ As _ 794.4 _
P= bid = 1o00x 460 - 0-0017
k = /(nOP)>2n0P -nOP
j-= 1-% , n=15
1 _ 2 1 _ 1
L~ kOj ’ L ~ POj
k = 0.203 1/Ls = 621.1
j =0.932 1/Lc = 10.6
Os = C/Ls = 0.392x 621.1 = 243.5 N/mn?
O0c=C/L =0.392x 10.6 = 4.1 N/mm?
T = S/(bld) = 146297/(1000x 460) = 0.32 N/mi?

oo oo goooo goooo oo
goOooooo N/mm? 243.5 300.0 oK
goooooooooooo N/mm? 4.1 12.0 oK
goo0ooooooooo N/mm? 0.32 0.58 0K




4-2-3 0000
() 0000000
D0OODI6 ctc250 0000000
0000000000C/2(C000000)0000000000

boooboobooooboooobooooodan

W= CONDy 0% = 0.550x 1.000x 24.50x 2990 = 6.74 ki

S« = COL"0y ¢ = 0.550% 0.725x 24.50 = 9.77 kN

0ooo
00000 c = 0.550 m
0000000000 I = 1.000 m
000000000 Ek-Cr2) I’ = 0.725m
0000000000000 Ve | = 24.50 KN/
000000000000000000000000
_ qu(x-Bths) _ 208.77x (2.324-3.600+2.200)
% = X = 2.324
= 83.03 kN/m?
0 - ck(x2?+ba _83.03x (2.323—3.600+2.200)
= 38.38 kN/m
o = % - % = 17.44 KN/
0ooo
0oo B = 3.600
0000000000000000000 be = 2.200 m
0000000000000 G = 208.77 KN/
ulufa]s]s]ufals X = 2.34
00000000000000000 o
000000000000 o
000000000000 0

uboooboobooooaboooooboood

W= g% = 17.44x 1.000x 1-0% = g.72 wm

Se = qal2" = 17.44x 0.725 = 12.65 kN



gbooobodooobodoboooboooobaod

1.000x 2.200+1.500% (3.600-2.200)

_  HeObo+Hu(B-b2 _
W = ———Ei—lyw_ ;20 x 9.80
= 11,71 KN/
y - (HmDv2m1n)bz _ (1.500x 9.802211.71)x 2.200 _ 9 05 i/
U 29.05 ,
w= o = 2305 = 13,20 i/
0ooo
0oo B - 3.600 m
0O000000000000000000 be = 2.0
0ooo He = 1.000 m
0ooo He = 1.500 m
0ooooooo ye = 9.80 KV
0000000000000000 U
jufals]s]ufalsls]ufals s
0oooooooooo U
0000000000000000000
Mo = umlzu% = 13.20x 1.000x 1'300 = 6.60 KNOm
S = wil = 13.20x 0.725 = 9.57 kN
- 0oo 0oo 0ooo 0oooooo
Vi(kN) Hi (kN) xi(m) yi(m) Myei (KNOm) [ Myi (KNCm)
0000 9.77]  —— — — 6.74]  -———
0000 T — — 32.10]
0000 12.65] - — — N7
0oo 957 —— — — 6.60] -
0o TR — — PR




ogoooooo M = 23508634 NOmm
gooo S = 34088 N
ooad b = 1000 mm
ooo D = 550 mm
ooad d" = 106 mm
ooad d = 444 mm
goood As = 794.4 mm?
_ M 23508634 _ 2
C= dez - 1000x 4442 = 0.119 N/mm
_ As _ 794.4 _
P= bd = 1ooox 444 - 0-0018
k = /(nOP)>2n0P -nOP
j= 1-'% ,n=15
1 _ 2 1 _ 1
L~ kOj ’ L ~ POj
k = 0.206 1/Ls = 600.2
j =0.931 1/Lc = 10.4
O0s = C/Ls = 0.119x 600.2 = 71.6 N/mm?
O0c=C/L =0.119x 10.4 = 1.2 N/mm?
T = S/(bdd) = 34088/(1000x 444) = 0.08 N/mit
oo oo goooo goooo oo
goOooooo N/mm? 71.6 300.0 oK
goooooooooooo N/mm? 1.2 12.0 oK
goo0ooooooooo N/mm? 0.08 0.58 0K




(@ 000000
00000000DI6 ctel2s 0000000

boooboobooooboooobooooodn
b2 2.200

W= Cobly 0% = 0.550x 2.200x 24.50x 2290 = 32,61 kv
S, = COby ¢ = 0.550x 2.200x 24.50 = 29.65 kN
ulalals
0oooo c = 0.550
0000000000 be = 2.200 m
0000000000000 Ve o =24.50 kP
000000000000000000000
oo KB 2.3203.6002.200 g qoq
My = QOIs = 38.38x 0.308 = 11.83 kNOn
S, = Q = 38.38 KN
ulalals
00000000 X = 2.3%4
0000000000000 = 38.38  kW/m
000000000 b = 0.308 m
0000000000000000000
_ OHaly wus , _ 2% 1.500x 9.80+ 11.71
b= S(Haly wus) @ 7 3x (1.500x 9.80+ 11.71) < 2-200
= 1.142m
M, = UDle = 29.05x 1.142 = 33.16 KNOm
S, = U = 29.05 kN
ulalals
ulalals He = 1.500 m
0000000000000000 " = 1171 KR
00000000 ye = 9.80 kv
000000000000 U = 20.05 KN/m
00000000 I
- 000 000 0000 0000000
Vi(kN) Hi (kN) xi(m) yi(m) Myei (KNOm) [ Myi (KNCm)
0000 29.65| - 1.100]  —-- 32.61] -
0000 Vi) 1.100]  —- 15538
0000 38.38| 0.308] — 183
000 29.05| - Y] 33.16]
o0 103.04] — — 142.96|




ogoooooo M 142964197 NOmm
gooo S 103438 N
ooad b 1000 mm
ooo D 550 mm
ooad d" 90 mm
ooad d 460 mm
goood As 1588.8 mm?

_ M _ 142964197 _ 5
C= dez - 1000x 4602 = 0.676 N/mm

_ As _ 1588.8 _
P= bid = 1o00x 460 - 0-0035
k = /(nOP)>2n0P -nOP
j= 1-% ,n=15
1 _ 2 1 _ 1
L~ kOj ’ L ~ POj
k =0.274 1/Ls = 318.7
j = 0.909 1/Lc = 8.0
0s = C/Ls = 0.676x 318.7 = 215.3 N/mn?
O0c=C/Lt =0.676x 8.0 = 5.4 N/mm
T = S/(bld) = 103438/(1000x 460) = 0.22 N/mi?

oo oo goooo goooo oo
goOooooo N/mm? 215.3 300.0 oK
goooooooooooo N/mm? 5.4 12.0 oK
goo0ooooooooo N/mm? 0.22 0.58 0K




4-3 0000000000

4-3-1 0000000000000

oo ooooooo ooo
ooooo oo ooooo ooooo ooooo oo
M(kNOm) Oc Oc Os Osa
ooo@oooo) 13.97 1.4 < 8.0 65.2 < 160.0 0K
ooo@oooo) 62.62 45< 8.0 142.5 < 160.0 0K
ooo loog oooo@ooono) 50.29 2.7< 8.0 153.1 < 160.0 0K
oooo@ooooo) 52.43 2.6 < 8.0 153.9 < 160.0 0K
oooo@ooono) 8.09 0.4< 8.0 24.6 < 160.0 0K
oooo@ooooo) 62.00 2.4< 8.0 93.4 < 160.0 0K
ooo@oooo) 20.58 2.1< 12.0 96.0 < 300.0 0K
ooo@oooo) 93.61 6.8 < 12.0 213.0 < 300.0 0K
ooo looo oooo@ooono) 73.15 3.9< 12.0 222.7 < 300.0 0K
oooo@ooooo) 82.95 4.1< 12.0 243.5 < 300.0 0K
oooo@ooono) 23.51 1.2 < 12.0 71.6 < 300.0 0K
oooo@ooooo) 142.96 5.4 < 12.0 215.3 < 300.0 oK
4-3-2 0O00OO0O0ODOO
oood ooooooo
ooooo oo oooooo oo
S(kN) T Ta
ooo@oooo) 27.94 0.10 < 0.39 0K
ooo@oooo) 53.72 0.17 < 0.39 0K
ooo loog oooo@ooono) 72.92 0.16 < 0.39 0K
oooo@ooooo) 100.57 0.22 < 0.39 0K
oooo@ooono) 11.72 0.03 < 0.39 0K
oooo@ooooo) 35.57 0.08 < 0.39 0K
ooo@oooo) 41.15 0.14 < 0.58 0K
ooo@oooo) 81.39 0.26 < 0.58 0K
ooo looo oooo@ooono) 106.07 0.24 < 0.58 0K
oooo@ooooo) 146.30 0.32 < 0.58 0K
oooo@ooono) 34.09 0.08 < 0.58 0K
oooo@ooooo) 103.44 0.22 < 0.58 0K
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